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QUESTION 1

A small videography business is requesting an internet connection that provides flexibility and is immune to
electromagnetic interference over long distances. Which of the following is best suited for this situation?

A. Cable

B. Cellular
C. Satellite
D. Fiber optic

Correct Answer: D

QUESTION 2

Which of the following relational database constructs is used to ensure valid values are entered for a column?
A. Schema

B. Permissions

C. Constraint

D. Column

Correct Answer: C

Constraints are are used to limit the data type such that, only the required data type is entered in a table, any other data
action that violates , this is aborted. This helps to enhance reliability and accuracy of data entered in a table.

QUESTION 3

A solution engineer has designed a new website for a company. The design calls for a separate web server and
application server, which communicate with a back-end database. Which of the following is this an example of?

A. Single tier
B. Two tier
C. Three tier
D. Four tier

Correct Answer: C

QUESTION 4
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A company expects to gather increasingly large amounts of information, which need to be accessed quickly by
employees. Which of the following is the MOST appropriate method to store the information?

A. Spreadsheet

B. Flat file

C. Network shared folder
D. Database

Correct Answer: D

QUESTION 5

Which of the following statements BEST describes binary?

A. A notational system used to represent an “on” or “off” state

B. A notational system used to represent media access control

C. A notational system used to represent Internet protocol addressing

D. A notational system used to represent a storage unit of measurement

Correct Answer: A

While people find decimal easy to use, computers use binary to calculate and process information. Binary is a
numbering system where each single digit can express only two values, in the range 0 to 1. The reason binary works
well with computers is that these two values can represent the off/on states of the transistors that make up computer

memory. Binary can also be referred to as base 2.

CompTIA Lesson - ITF+ Bundle

QUESTION 6

Which of the following internet service types requires filters to be installed on telephone lines at the location?
A. Fiber

B. DSL

C. Cable

D. Satellite

Correct Answer: B

QUESTION 7

Ann, a user, wants to remove unnecessary software and services from her personal computer to make it more secure.

Latest FC0-U61 Dumps | FC0-U61 VCE Dumps | FC0-U61 Exam Questions 3/6


https://www.pass4itsure.com/fc0-u61.html
https://www.pass4itsure.com/fc0-u61.html
https://www.pass4itsure.com/fc0-u61.html

. VCE & PDF https://www.pass4itsure.com/fc0-u61.html
a 2025 Latest passditsure FC0-U61 PDF and VCE dumps Download

— PassditSure.com

This is an example of:
A. baselining.

B. hardening.

C. patching.

D. updating.

Correct Answer: B

QUESTION 8

A user wants to ensure that a banking site is secure before logging in. Which of the following should the user look for in
the URL?

A. SFTP
B. SSL
C.HTTPS
D. HTML

Correct Answer: C

QUESTION 9
Given this section of code:
set ccunter = 1

while counter < 10 do
print counter

if counter = 5
break
counter = counter +1

Which of the following is the break command an example of?
A. Array

B. Output

C. Loop

D. Branch

Correct Answer: D
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QUESTION 10

Which of the following would be the easiest component to upgrade on a laptop that is experiencing slow performance?
A. Motherboard

B. GPU

C. RAM

D. CPU

Correct Answer: C

QUESTION 11

A user is selecting software to use to prepare handouts for a presentation. The user would like the information to be
easy to format and printer friendly. Which of the following software types should the user select?

A. Word processing

B. Spreadsheet

C. Text editor

D. Visual diagramming

Correct Answer: A

QUESTION 12

Which of the following is an example of a compiled language?
A. C++

B. SQL

C. Python

D. XML

Correct Answer: A

QUESTION 13

Which of the following is a programming language data type that contains a list of related values, such as colors?
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A. String
B. Array
C. Float
D. Boolean

Correct Answer: B

QUESTION 14

A home user just purchased a new computer from a large retailer. After setting up the computer, the user notices many
games and applications are pre-installed. To reduce security concerns, which of the following should the user
complete?

A. Perform a System Restore

B. Call the computer manufacturer.

C. Remove the unwanted bloatware.

D. Check for disk fragmentation.

Correct Answer: C

QUESTION 15

Concerned with vulnerabilities on a home network, an administrator replaces the wireless router with a recently released
new device. After configuring the new device utilizing the old SSID and key, some light switches are no longer
communicating. Which of the following is the MOST likely cause?

A. The light switches do not support WPA2.

B. The router is operating on a different channel.

C. The key does not meet password complexity requirements.

D. The SSID is not being broadcast.

Correct Answer: B
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